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General Instructions :

The question paper consists ol four Sections - A, B, C and D. Section A consists of 10
questions ol 1 mark each; Section B consists of 8 questions of 2 marks each; Section
C consists of 10 questions of 3 marks each and Section D consists of 6 questions of
4 marks each.

2. All gquestions are compulsory.

3. In questions on construction, the drawing should be neal and exactly as per the
given measurements, Use ruler and compasses only,

4. There is no overall choice. However, internal choices have been given in some
(uestions.
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Section - 'A' (@Wg-‘¥’)

Value of &', when x=0 is -

(@) 1 (b} «x (¢} O () nol delined 1
afE x= 0% & A0 qF BN

(31) 1 (|@) x (") 0 () wfesnfoa = &

If 2v%= 1, then value of xis

[a) 4 (b) B ) 3 (el O 1
gt o= 1B xWAAE

(1) 4 (@) 8 (@) 3 (@) o
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3. I 10% =25, then 10¥ equals

@ 5 (b) ; (c) ;ln

afz 107 =25 B A 10" TR B

(d) 625

() 5 @ 5 %) (%) 625

4. Simple Interest on ¥ 2000 al % P.a for one year is ¥ 100. What will be
compound interest compounded annually on same Principal, rate and
time?

(a) T 105 (b 2105 (c) 100 (d) T2100

$2000 W 19 Tfad & X A U Al 1 @R @ 2100 7136 AU, @ i
Y W ARG SIS T BRN, St we @it wafee e

(3) 7105 (@) 22105 (@) T 100 (2) 22100
5. Which of the following is a constant Polynomial?

(a) -4 (b) 3x (c) 25 () A

T % & =il & s aEwE B 7

(31) - 4 () Bx (|) 2x (F) A
: . 3x ;
6. i DeF I, the value ol xis

(a) 5 (b} -5 ) 1 {cl) 0O

aft X 12 A AR

2x-5
(37) 5 (@) -5 (@) 1 (&) 0

7. Sum ol all the angles ol a pentagonis

() 360° (b) 540" (c) 180" () 720"

R e RO e S

(3r) 360" (@) 540¢ (|) 180° (=) 720
8. Ilin a Parallelogram ABCD, 2B =100", the measure of . Cis

(a) 100" (b) 260" (¢} 8O° (d) 180"

afe fordt @ agfst ABCD # 2B 100" B @ w W @

(3r) 100" (@) 260" (@) 80" (&) 180"
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10.

L1

12.

13.

14.

15.

Which of the following has equal diagonals?

(a) Parallelogram (b) Rhombus

(c) Kite (d) Square

ot ¥ & forae ol e B B0

(3r) TR TG (@) & g

(&) wam (z) =

Order of rotational symmetry of an equilateral triangle is

{a) 3 (b) 4 () 1 d) 2
ve AT e o ol anfafa o w2 |

(%) 3 (@) 4 (/) 1 (7) 2

Section - 'B' (@e- ')
Find the value of (3" + 4 ') x 27
(30 + 47) x 22 T FF TG HifoTQ

A T.V. was bought al a price of ¥ 21,000. Aller one year the value of the
T.V. depreciated by 5%. Find the value of the T.V, aller one year,

ve A1, 121,000 A W T T A q@ QA AN HAG B AGEET 5% F A
| FAN U Hi e A 3 @ T e

In trapezium PQRS, PSIIQR, SR LQR., ~Q-=130". Find measures ol 2P
and £S.

aied PQRS ¥ PS|IQR., SR LQR 3R ,Q-130°, /P &R .s & wH 74
i)

Find the volume of a cube, whose surface area is 600 cm”,

UF O T I e e, e gl SEwe 600 R 2

List two letlers of English alphabet which exhibit both line as well as
rotational symmeilry.

i vt & U <t er fofan o Wae wwfafa siv oo awfafa 290 feam =)
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16.

17.

19. Simplify 2

Find the value of 'm' for which 5" : 5" - 5",
m & A e Shifoe e o 50 .50 o 50,

FFind the compound interest on T 12,600 for 2 years at 10% P.a compounded

annually.

212,600 W 2 3§ & forr 1090 wfvrad &t =% ¥ awafe = w7 Fifi

The internal measures of the length, breadth and height ol a room are
12m, 8m and 4m respectively. Find the cost of white washing all four walls

of the room, il the cost of white washing is ¥ 5/m".

U FH FI ralies oars, qiee a9 U o 49 w12 /o a4 i ) afe
ARE T W @d 25 ufy e 2, @ 39 @ F 9R AER W AR a0 @l

@ A Fifae)
OR (3rerar)

In a building there are 24 cylindrical pillars. The radius of cach pillar is
28cm and height of each is 4m. Find the total cost of painting the curved

surface area ol all pillars, at the rate of ¥ 8/m*.

U WO W 24 AFATRR T B | IR w0 @ e 28 @9 3R g 4 9 2 afe
Tz o F W 2 8 9 aiieR # A et e @ aw geSi e ) e e
1 e @9 I DI

Section - 'C' (Ws-"®’)

310" <125 SR - 37%10" %125

i ] ] =%
5 xB 546

20. Mr. Ram borrowed < 40,960 [rom a bank to start a play school. The bank

charges interest al the rale 12'%4% p.a. compounded half yearly. What
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21.

22

23.

amount will Mr. Ram pay back to the bank after 18 m{mlhs.?‘

T X e 70 e e # o v # ¥ 240,960 = w0 form af? m @t W
1214% i a0 B, S s anf aiftfer waifor ot ot 2, & s Sfifow s o 18 e
& yrre ¥ Fi fEEee afir dewm

OR (3rexan)

The Population of a city increases at the rate of 5% P.a. If the population in
2003 is 52920, what was the population in year 20017

506 At @ & 92 7Y 9 2003 B i ¥ U TE ) TG 52920 B | 99
2001 ¥ ZEat S=EEm T 47

Using long division method show that (3x+1) is a factor of 12x"-2x* + x+1.

it faft & Rardd (3x+1), 12x-2¢ + x+ 1 &1 T UGS 2

Jt-2 2t+3 2
Solve the linear equation —— - i R

4 3 3
t-2 2t+3 2
e A2 A3 2w ww wifvw
4 3 5
The measures of two adjacent angles of a parallelogram are in the

ratio 3 : 2. Find the measure of each of the angles of the parallelogram.
ot e Tt & 2 T NN A 3 ¢ 2 T A B A A B @i w o
il W A g

OR (3reman)

In parallelogram HOPE, #HOP =110°, ZEHP = 40", Find the angle measures
of /HEP, ZOHP, £ZOPH.
U G TS HOPE ¥ #HOP =110° T91 £EHP = 40° | /HEP, ~OHP T
~ZOPH & A9 71 Sl
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24. Write the order of rolation and the angle of rotation for the lollowing :
(i) Regular hexagon (i) Rectangle
(iii) Parallelogram
e sl & ol woter wifaf&y o o st s &1 ior e =i
(i) THIHA (1) JmEa
(iii) TR ATH
25. Al whal rate percent will a sum of ¥ 62500 amount to ¥ 67600 in 2 years,
interest being compounded annually?

fera =z ufdwE 92 262,500 =1 fisier @ | F 267,600 B som, afE wra afdad
i w7

26. Present ages ol Anu and Raj are in the ratio 4 : 5. Eight years [rom now the
ratio ol their ages will be 5 : 6. Find their Present ages.
I A TA B AR A T HAIA 4 ;5 #1 8 ad A IAS 3g w3
51 6 B WA IRAE &) adaT g S it

OR (3erar)
The denominator of a fraction is greater than its numerator by 8. If the

numerator is increased by 17 and the denominator is decreased by 1, the

number oblained is % . Find the [raction.

ve o o w0 Tad W @ 8 Aftew ?) e s A 17 e e o A e A A we
fomr s w9 3 /2 o B ) A fae e i

27. A pair ol adjacent sides of a reclangle are in the ratio 4 : 3. Il its dingonal is

20cm, Find the lengths of the sides and hence, the Perimeter of the rectangle,
U T A AN D Uk T A 4 0 3 I Bl e faot 20 W0
# Al A 9 e @ Fasar s af s @
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28.

29.

30.

31.

32.

Construct a quadrilateral ABCD in which AB = 4.5 em, BC = 4 cm,
CD = 4.5 cm, diagonals AC = 6 cm and BD = 6.5 cm,

qfs ABCD %t W01 #ifor o AB = 4.5 cm, BC = 4 cm, CD = 4.5 cm
fa@rvi AC = 6 cm 3R BD = 6.5 cm Bl

Section - 'D' (Wg-‘T’)

Fabina borrows ¥12,500 at 12% P.a for 3yr at simple interest and Radha
borrows the same amount for the same time period at 10% P.a. compounded
annually, Who pays more interest'and by how much?

R A 212,500, 3 @ & R 1296 A = A wuRY =@e w 3uR fBre 3k e
5 I B T I @ B R 109 aiffeE @ d wRafe @ W SR @ st
= At ®9 & FAted B 81 R st sre @ e @ # sk fae
aiftrer e 27

Divide (125 - 225x + 135x% - 27x%) by (5 - 8x) and write down the quotient

and remainder.

(125 - 225x + 135 - 27x%) & (5 - 3x) ¥ W7 Y 3 WRGar ao Srawe
g

Bansi has 3 times as many two-rupee coins as the number of five-rupee

coins he has. Il he has in all a sum of ¥ 77, how many coins of each
denomination does he have?

8 % T s 2 T 9w T e 5 o 9@ § gk 2 v a faas) @
W 5 T A el @ e i T # S S w @ e A 77 v R
A I wER & fonl @ wE s @i

Using ruler and compasses, construct a quadrilateral PQRS, in which

PQ = 5cm, QR=6cm, RS = 6.5¢m, #Q=105". /R - 75".
TR IR WER F weEd ¥ v wqde PQRS # @ Fifew e pQ = s0m,
QR=6cm, RS = 6.5cm, #Q=105" @41 /R - 75" B
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33.

34.

The volume of metal in a cylindrical pipe is 748 cm®. Its length is 14em

and its external radius is 9 cm. Find the thickness of pipe. |Use r - % |
UF AR I8 ¥ € 1 HEE 748 cm?® B g@ent wvard 14 om wur ama Frew
9 cm®, T Y N A T Ao (- % Afew)

OR (32ran)

The curved surface area of a cylindrical pillar is 264m* and its volume is
924m”. Find the diameter and the height of the pillar.

U AeHIGER TN E I TSI AR 264 m? ¥ S FWH @A 924 m* A
Y T e AR FHar e e

Water is pouring into a cuboidal reservoir at the rate of 60 litres per minute.
If the volume ol reservoir is 108m®. Find the number of hours it will take to
[ill the reservoir. If the area of base of cuboid is 24m?, lind the height of the

cuboid,

U HAH B AR B H3 A 60 #et ul fme ot o A e fie e 2 afr w5z
HEa9 108 m* B, A 7 o & 58 & & v F e we o ? afe v @
LR T &R 24 m? B, W T ) FAE 5 i
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